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JERRH R X 1 112, 923, 366
EHET = 1 1,167, 882
HRHEI T = 1 553,152 | #iHH! 640 m3
LY A7 iy b FRLE PEEME 5, 000m3AH ;
b 640 m3
0 Cabl- EHIRY £5Te) ;
H 1 640 m3
B2 A couE
BEARRE AT = 1 101, 848 | B&{AS (BEER) Bk 1 100 m3
4. 0mPL E
b 120 m3
0 CaBl- EHIRY £5Te) ;
FHIA Ob-27) 120 m3
+Hw 550, 000m3 AT ;
BRE LT = 1 98,845 | KK 90 m3
4. 0mPL E
b 100 m3
0 Cadl- EHIRY £5Te) ;
FHIA Ob-27) 100 m3
+Hw 550, 000m3 AT ;
Rkt A = 1 119, 224 | (LR (B 150) 140 m2
BRI v+ R O + kit
552 7)) =X 1 294,813 |#E Y av))-} 98 m2
18-8-25 (20) (&) av))-MEMIEHE ;
MR B T = 1 6, 537, 300
B 2 1 6,537,300 | &L 2,100 m3
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IR = 1 412, 230
fliAE T = 1 358, 750 | HiE AL FAA MR AT 50 m2
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TEFIM R E 72 m
HIEEM 100X 100X 6X8 ;
Paft 17.9 m
22 8250 X 5400 ;
ETFREDER ITMEA 72 & P
PC)™77b ;
Ttk IR 79 MEAN 102 E10
PC)™77b ;
TE A TR FRIE 0.6 m3
(BT OHER)
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P 1 2
— R

FI 8 22l R A 1 X
D200 ;

i53i0) 0.15 t
SD345 D13 ;

BEm 0. 07 t
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SRy VA 42 N
SD345 D13 L=970mm 4@ %7/1—-(D13H)

SRy VA 42 N
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s 1 X
TEFR Yy PME

JEERR L 2 9,798,251 |av))-p 92 m3
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A 1 X
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+4)
HEL 1 2V
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T wb AT 1 X
0 CaBl- EHIRY £5Te) ;
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AR v T 2 506, 210 | BUGFT B K 1 ST
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BGHT K 2 (£
(©)
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BGHT K 1 (£
(I
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= 1 e
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HNHEAKL = 123,469 |Hi FHEAK 47 m
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HEAKT = 110, 455 | ffEHEK 3 m
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ES 2 r5e
i BhAKBG LR 300/ 710X 1000X6.0 ;
CEUEVZAR 3 m2
(FEBEZK)
18-8-25 (20) (@) av))-MEMEBEE ;
M 2 959, 876 |av/)-} 19 m3
18-8-40 (B JF) ;
P 1 2
— e
2% 1 X
MRE T 2 225, 280
R R T # 225,280 | R 1, 000 m2
TR T
(233 1, 000 m2
PARHAN
B 2, 000 m2
THIA 2,000 m2
BRIEALSY 1 t
s ALER T = 1, 313, 350
I AALVERESE T X 1,313,350 |95 1 2V
% 1 X
KB F A L = 1,294, 412
EELT = 179, 542 | K& D 1 =X
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HERT L 1 =
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HEYE T Y 1 143, 991
HEYHE L T Y 1 51,371 |&lZERREI T 1 F2V
) -MHEERR 15emPL T
A IR A 201 m2
29 ) - MR EZERE 10cm
TE LB T =Y 1 92, 620 | BoEM 20 m3
/) -k (BERR)
RISy 20 m3
20—k (SRR
A Y 1 4,092, 129
TEHERKT Y 1 263, 452 | #mH! 250 m3
W A7 vhyb PP BEEME 5, 000m3ATH ;
EuNE R 360 m3
4. omPh Lk
HOF 170 m2
HAEIT9v%77 RC-40 BE 100mm ;
+o 5% 4 m2
K T Y 1 3,353,760 |fHEKE 51 m
EEREER VIRV 1000 47 VS MEFLAE .
VEZEY-1 i T = 1 174,317 |1} 3ERE 558 m2
AEEHT Y 1 300, 600 | A3 H R E AL 5 1 =
[ERANE Xy = 1 112, 923, 366
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iR # 2V 1 26, 979, 043
e Tre: X 1 14, 405, 043

R 20 1 3,879,000 | HEERRBRAR ) fFAHH N s A 1 20

i 2 E20 1 9,384,243 |k 1 #

ARAR AL 55 B 1 X

EsZREgiis ¢ 2V 1 58,800 | iE FE i A% HAT - VERCE 1 E20
BUGBREIUEL (REH L) 2V 1 1, 083, 000
sty (R L) 2V 1 12, 574, 000
ol T 2V 1 139, 902, 409
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